nTES POST@

Yy

* UNITED s,
c
w
r

* DIAYIS

™
*

* ok k k¥

neighborhood delivery
and collection boxes/

Maintenance Handbook Series K1S-55/August 197:1



12710702 14:42 FAX

TABLE OF CONTENTS

I. INTRODUCTION

A.
Bi
C.
D'

Equipm&nt Description...-..-........-.-.....m-......«....u......-.
Functional Description......-.'...-"..."..(ﬂ'...(’.'.""’...".’.
Unpacking..-....-.....-........-.--....‘...-m....(..u....q........

Installationo.....--o.-.u-o-.’------o-.--.oooxu-n-.-.o-:..o'-a.-a...--

II‘ Operating PriHCiples..lll‘olllbcI.oOOQ.D.C.'!O.’m.n.Q1!0*50'..-)0...0...

III. Safety.cn.DQ.UD....OI.IO‘...Q....ull.lli..lo....u.al.)'D!a.o.u&ll.ic.‘.

IV. Preventive MaintEHQHCE/warranty of Supplies---o-onoouln-uoooumutosrcop

V. Repairs

A.
B.
C.
D.
E.
F.
G.
H.
J.
K,
L.

DefECtive lOCk..oooccoooo-;..op--ut'--onocrvo.ot--'ouo‘-uo-o-.----
Defective Mullion INSerT.ssesessesorsrerncsentonessasnsscnonansosns
DefectiVe hinge mullion-o.-.-lcoo--o.o--..-npco-o'on:o.-m--o-ona"
Defective MailboX QOOTesssssnsseesaseesacsnorooscscosnsanossanseses
PedEStal loose on fDOting.-......c-.-..-......--...m.--......-....
Mailbox unit loose on pedeSta@l.cesesesesssscssasessansssnsensnsnss
Damaged or defective pedestalissecscsssscsessvecnssecnasonacssnnsseae
Damaged or defective mailboX UNiteiesesesssaceneoansissnssassnnanes
Inner case TemOVAl.scessssnsnesrosenvronsssncocsocssasovssnoenansees
Inner case TreinstallatioN.eeescscsccsssscsesunrossnrnasiseenonscoesess
Tambor door, inoperative or defectivVe...escussnocescoenssanssossas

VI REPlaCEWQnt Part list.oaaoa.oco-c---ocotu-----ow--:-;c-no--ovnc.o-o-.‘

FIGURE ll'l!l‘..to'!lll..ll.Q.""IQIDD..'CC’.G.' e a3 08 e e Ere e W E
FIGURE 2‘!-.'Olo.ilvv'l...‘tO..In"l.-".lﬂﬂ'lll)I‘OOQ.'«D-O.'II‘.

FIGURE 3‘......-.'!.......0.'.C'l'.l.ll-.'l”'illl"b'-lln‘.‘.l.v‘-

FIGURE u-t."..“"h..l......Il'l.'.'.‘.I"‘lI"l.l..li.!-l’.’ll'l.I’

FIGURE S.ttvvnreerernreasosevansasatoansssssooresnnscssnnanannnnses
FIGURE 6.-..'....‘.."ll\I..I.'.lI".II.ll.l*llﬁl..tﬂu'l'l)w.l...t..l
FIGURE BA.veurrevaerassnsssssseneantonsarennssasasossnanesosnssnsassan

N

E

O WONNIIIJm

'.—l

P
+

@ ;W

13
14

doos



12/10/02 14:42 FAX

R R S — —_— doo4

I. INTRODUCTION

A. Equipment Description

The neighborhood delivery and collection box con:tisis of the mailbox
unit, mounting pedestal and loose details or hardware for installation.
The mailbox unit contains 18 individually lecked counpartments for
delivery of mail., Each compartment is six inches w.de by nine inches
high by eighteen inches deep, Two of the individual boxes may be elim-
inated to provide sixteen individually locked compai~tments for delivery of
mail and one compartment for deposit and collection of outgoing

mail. Four boxes may be eliminated to proviide fourt:en individually
locked mail compartments and two compartments fo!» d:posit and collec=-
tion of outgoing mail. See part I, section D for iastructions to
provide mail drops.

B. Functional Description

1. The neighborhood delivery and collecticn box is a pedestal-mounted
unit for delivery and collection of mail. These units are install-

ed conveniently throughout the neighborhood, at locations approved

by the local postmaster, so that the individual customer will not

be required to travel unnecessarily long distances from his place

of residence for his mail. More than one unit may be installed at

a particular location when the quantity of individual boxes requir-

ed warrant it,

2. Customers will obtain their mail from Indivifually locked boxes
from the front of the unit, while the delivering cerriexs service
the boxes from the rear.

C. Ungacking

Each unit is packaged in two cartons, one containirg the assembled
mailbox unit and the other containing the pedestal and loose hardware
required for installation. Care should be exercised in unpacking to
eliminate the possibility of losing the lovose herdvare, A listing

of loose details is as follows:

1/2-13 hex nuts

1/2 lockwashers

3/8=16 % 3/4" hex bolts

3/8 lockwashers

1/2-13 x 15" anchor bolts

12" x 6" x 10 ga. steel baseplate

~E T ErEE

Care should also be exercised when unpacking the assembled mailbox
unit to prevent loss of the keys for the imdividual doors. Instruc-
tions from the local postmaster should be pevieved pricr to unpacke
ing to meet the requirements for key control,

NOTE: Four anchor bolts shall be removed from the zarten and supplied
to the concrete footing contractor if the footing is precast.



enn frh

D.

Installation G_EEGURE 1

1.

Site Preparation

After site selection, prepare the site for concrete footing by
excavating as illustrated in Figure 1. Concrete footing may he
pre-cast c¢r poured on-site. In either case, the footing should
be properly hack-filled and tamped to assure non-shifting. Con-
crete footiny to be reinforced with 1l/4 inch diameter steel tie
rods and 1/2 inch diameter reinforcing bars (supplied by the con-
crete footing contractor) as illustrated. Four anchor bolts,
item 43, supplied as loose parts, shall be located in the footing
as indicated. The baseplate, item 50, may be used as a template
to locate the anchor bolts. Each anchor bolt should project 1 1/2
inch above the concrete.

Baseplate leveling and pedestal mounting

Set basep..ate, item 50, over projecting anchor bolts in the con-
crete fooringz. Note: Leveling washers or shims are not supplied
as loose par:is and must be furnished by the contractor. Having
leveled the Haseplate, place pedestal, item 3, upon baseplate and
check for perpendicularity/levelness, making any minor adjustments
to the baseplate To assure the pedestal is properly located. Fill
under the baseplate with grouting material as required. After
grouting has hardened, place pedestal over projecting anchor bolts
and baseplats ané secure with four hex nuts and washers, items 4u4
& 45, A 3/4 inch socket wrench with an extension approximately

36 inches long should be used to tighten the hex nuts.

Box unit wounting

Before mounting the box on the pedestal, remove four hole plugs,
items 18. Mount the box upon pedestal and install four 3/8-16x3/4
hex bolts and lockwashers, items 47 § 48. Secure to pedestal

by using a socket with appropriate ratchet wrench with a short
extension. Replace plugs as illustrated.




GENERAL ASSEMBLY

viewed from rear

WHEN WNIT HAS BEEN
FASTENED TO PEDESTAL,
COVER 4 ACCESS HOLES

WITH PLASTIC CAPS

@ PEDESTAL— |

FLAT WASHERS MUST BE

MUST BE BELOW FROST LINE

vl

l

PLACED UNDER HEADS OF
THESE 4 CAP'SCREWS
(3/8"-16 x 3/ 1long)

ALd  1/27-13 NUTS (4) &
‘ E 1/2" LOCKWASHERS (4

=

B, 10 F

S =Sy

|18 e

Gy

s St e A
S - h '.& A

Al e .0

6" x 12" BASE PLATE

MUST BE LEVELED IN
BOTH DIRECTIONS

USE SHIMS OR WASHERS

THEN FILL AND SEAL
SPACE WITH GROUTING

8

1/4" STEEL “——<
TIE RODS

AS REQUIRED

< P

17om smeme " | e
REINFORCING RODS | * . l
A5 REQUIRED R U |
- - A_

. A. s -

€ Y . - -

il - ]

vl ¥

REEWR BREN

a >

FIGURE 1

()

ANCHOR BOLTS (4)
THREADED ENDS MUST
EXTEND 1%" ABOVE CONCRETE

) 0
't

d 2

{ {

{ !

| I

| |

-
.

[

3

.

-

e R
i
.
e

\4
, -
AT 1 EAGT . o;

D
|-

]
.

L
. B
[ ' .
rEred

A :

)
.

KT e B
~
m\

¢0/01/2T

Xvd v v

+ rtrt ot — T

900 3



4. Community mail. drop copversion ~ FIGURE 2

One or two mail collection compartments are provided by elimin-
ating two cr four individual delivery compartments. This is
accomplished as follows: Open tambor door at the rear of the
unit. Itens 42 as shown on Figure 2 are removable vertical dividers.
: One is to ke removed if one letter drop is required; both are
! rernoved if two letter drops are required. With a screwdriver and
: wrench yemcve the first three screws, nuts and washers, items 22,
23 and 24, from the rear in the bottom of the vertical divider.
Remove cne screw, nut and washer from the top front of the same

" divider anc one sheet metal tapping screw from the top rear. The
divider anc plate assembly can now be removed by sliding it toward
the outside of the unit about 3/4 inch and then turning it about
45 degrees. Looking upward from the rear of the unit where the

: divider has just been removed, remove the two screws, nuts and

I washers frcm the mailslot cover, item 25. The cover can now be

[ removed frem the front of the unit. Using a flat blade screw-

' driver, so as not to scratch the finish on the unit, pry the mail
slot cover down and out just enough to clear the hem on the under-
side of the rain shield. The cover will now slide forward out of
the unit. Conversion is now complete.

II. OPERATING FRINCIPLES

Operation of the neighborhood delivery and collection boxes consists of
customers unlocking, opening, closing and locking their individual mail

receptacles from the front of the unit; and mail carriers unlocking,
opening, closing and locking the tambor door at the rear of the unit.

III. SAFETY

Normal safety precautions should be exercised during installation. It is
recommended that one morith after installation and six months thereafter

the unit be checkec by the carrier opr postmaster's designated representa-
tive to assure safe and satisfactory operation. Check the unit to assure
that the anchor bolts are still tight and that the footing is solid. There
should be no movement between the pedestal and the footing which will even-
tually cause the unit to fail and possibly fall. A visual inspection should
be made for vandalism that has caused sharp corners or burrs which present a
potential hazard. Refer to the repair section of this manual for the pro-

cedure for requirec¢ corrections.
IV. PREVENTIVE MAINTENA{ICE/WARRANTY OF SUPPLIES

A. Preventive M.:aég:enan«::e

1. Other than jaint touch-up, little or no preventive maintenance
is required except periodic visual check for broken, missing or
worn par:s. Necessary repairs should be made as outlined in the

repair section of this handbook.

2. Chips or scratches in the enamel finish should be touched up to
prevent sorcosion. Surfaces must be cieaned first removing dirt,
corrosion or other foreign matter exposing the bright aluminum
surface. Da2pending upon the extent of the damage, this may be
done with a solvent such as enamel thinner, aluminum wool or
fine grit sandpaper. The area then shculd be coated with zinc
chromate viayl wash primer or a suitable equal for use on alumi-
num. Apyly a ccating of enamel of a matching color over the
primed surface. These units are painted with a polyurethane
enamel. Contact a local industrial paint supply distributor
for a product suitable for the required touch-up. NOTE: No
Harsh chemical cleaning solutions should be used to remove

corrosion.

P —— -_zmw

4

70011




¢0/01/2T

TO PROVIDE COMMUNITY MAIL DROP TO PROVIDE COMMUNITY MAIL DROP
o
F1=N
REMOVE ONE OR BOTH PARTITIONS A & C s
TOP FILLER oo
)
5
- = s
A B c
'\\ //' ' REMOVE MATL SLOT COVER
" I—
2| 1 T 7 1
REMOVE THESE PARTITIONS BY @@@
REMOVING 2 SCREWS FROM TOP RAIN iﬁﬁg%gwgpgﬁ f_;g: ﬁgﬁ“op il
FLANGE OF EACH PARTITION AND SHIELD E
3 SCREWS FROM EACH BOTTOM
FLANGE. THEN REPLACE TOP FRONT
SCREW WHICH ALSO HOLDS BULLION
FOR FRONT (CUSTOMER'S) DOOR.
MATL DROP CHUTES-
OPEN ONE OR BOTH
; BY REMOVING @
| } RAIN MAIL 5LOT COVER
j SHIELD E—y
REAR VIEW TOPF ROW VAR
OF DOORS / &'
WHEN REPLACING PARTITIONS, (FRONT) [ ey
TOP PLATES OF A & C MUST
REST ON_TOP FLANGE OF B i
| A
M i v = e = o 3 ha -
— Y Ty
| | I l
i ] i L\ | L
i
d i W i ! i I i
@ " ) VAL e e e te he o 1] !
w2 ‘ I I P LN e o o io fflo flo 1| g
[ }\ o \\ L I Y
i \ i |
3 nuts ' i k ',1. \ E ! 1 ! ! i
3 washers l ! ; \\ \ ! [¢] o] o [e] 1 o i [¢]
DO ﬁ \ | (.
‘ i = R !
places) = e \\ \\

FLAURE 2
n

800 1]




V.

Warranty of supaliss

The manufacturer warrants that for ome year after delivery, all supplies
furnished zccoriling to specification USPS-B-556A (latest revision in effect

as of contract latz) will be free from defects in material and workmanship
and will conforn to all requirements of the specificatiens, and the preser-
vation, packagiag, packing and marking, and the preparation for, and method
of shipment will also conform to the same specification. Warranty claims
shall be submitted to the manufacturer as shown on the nameplate on the

rear of the unit. Ref: USPS Form number U4756;Postal Equipment Defect Report.

Regairs - FIGURY 3

A. Defective lock - Figure 3

1. Unlock and bpen the tambor door a& the rear of the unit.

2, As illustrated in figure 3, remove the screw from the back
of the lock,

3. Remave the locking cam from the lock allowing the door to
opei.

4, Witn a 7/8 inch wrench remove the nut from the lock and
remove the lock from the door.

S. IMP)RTANT:Bzafore installing a new lock, item 17, the key from
it should be tried in all of the other doors in the unit
to nrevent duplication,

6. With the new lock in the unlocked position and the hex nut
removed, insert the cam first then in an upward turning
motion insert the lock in to the door.

7. Install and tighten hex nut on rear of the lock,

MAILBOX DOOR LOCK

. R LOCK
TO REMOVE DOOR LOC (SLIGHTLY ENLARGED

REMOVE THIS HiX NUT-

. STOF LUG ON STOP WASHER LOCKING CAM
OUTER BARREL
FIGURE 3

e RTNE ) S T I



12/10/02

B.

14:44 FAX » 010
1 D [ —

Mullion insert - FIGURE 4

1. Unlock and open mailbox door covering defective mullion insert,
items 18, 1ll,or 12.

2. With a small screwdriver or other appropiate tool, pry the bottom
end of the insert out of the grooves of the mullion and pull out
and down until it is removed.

3. Insert top end of new insert approximately 3/8 inch .into the opening
in the bottom side of the shelf at the top end of the mullion.

4, Push one edge of the insert into the groove in the mullion, item 6,

5. Using aputty knife or similar object, push the other edge into the
mullion,

Door mullion - FIGURE 4

1. Unlock and open the door of the defective mullion and the door
adjacent to it covering same.

2. Remove insert as outlined in V-B~1l&2.

3. With a 1/8" drill bit and a hand or electric drill,érill the heads off
of the exposed 4 rivets and drive out the rivet body with a 1/8" pin
punch.

4, Grasping the door and mullion, items 5 &€ 6, at the Lottom, pull outward
approximately 1 1/2" and then down until it is removed from the unit,

5. Replace defective mullion with new one,

6. Place door and mullién back on unit by doing step 4 in reverse being
sure to line up the rivet holes,

7. Replace the 4 rivets, item 20,using the appropiate riveting tool,

8. Replace mullion insert as outlined in V-B-3 thru 5.

Mailbox door - FIGURE 4

1. Use the same procedure as V-C-l thru 8 except replace docr, item 5,
instead of mullion.

2. Remove lock from defective door and install on the rew door as
outlined in V=A=4 thru 7,

Mailbox unit--loose on pedestal - FIGURE 1

1, Unlock and open tambor door and remove 4 hole plugs, item 18, in the
bottom shelf inside the mailbox unit.
2, Tighten the 4 bolts as instructed in I-D-3.

Pedestal--loose on footing, - FIGURE 1

1. Same as V-E-1,

2., Using tools as described in V-E-2, remove the 4 kolis and washers,
items 47 & 48 that secure the unit to the pedestal. Use extreme caution
to prevent the unit from falling. Set the unit aside.

3, Tighten four hex nuts, items 44, as in I-D-Z

4, Reinstall mailbox unit as in I-D-3,

Pedestal-~damaged or defective - FIGURE 1

1, Bame as V-F-1 & 2,

2. Using tools as in I-D-2 remove four hex nuts,iten 4L, that secure the
pedestal to the footing. Remove defective pedestal.

3, Install new pedestal, item 3, as in I-D=-2,

4, Reinstall mailbox unit as in I-D-3,



Lk e 2 LT3N

Ll L/ I

Ve

THIS MULLION COMBINATION
AT EXTREME LEFT OF EACH

THIS MULLION COMBINATION
AT 15 INTERMEDIATE POSITIONS

ROW OF DOOQORS

Y

7T T T

THIS MULLION COMBINATION
AT EXTREME RIGHT OF EACH
ROW OF DOORS

MAILBOX
DOORS

2]

/ \\
/ AN -
Il j \!‘\x i |
e N R
o) o) o] lfo o) o f
| |
o o o o o o i
: |
T |
TO REPLACE MULLION INSERTS o o o o o o ;
@ SQUEEZE SIDES | 0
11, TOGETHER ‘.

TO REPLACE MULLION INSERT
REMOVE MULLION FROM
INNER CASE ASSEMBLY
AND SLIDE OUT INSERT
THROUGH EITHER END.

FIGURE &

INSERT THIS NYLON
BUTTON AT BOTTOM END
ONLY OF EACH DOOR HINGE




12/10/02 14:44 FAX [djo12

H,

J.

K.

1

Malibox unit-damaged or defective - FIGURE 1 '

1.To replace complete mailbox unit repeat V-F-1,2,t.

Inner case removal-when required for repairs - F..GUE 51

1.With a 3/16" drill bit in a hand or electric dri’l, drill the heads

off the 16 rivets, item 19, across the too front of hood assv. Fig, 5.

2.With a 3/18" pin punch drive the rivet bodies throuzh the hood.
3.Insert a putty knife or flat blade screwdriwver between the top

filler assy.,item 4, and the top front of the hood; pry down, being
careful not to scratch the finish, Hold the filler to prevent it
from falling when it comes loose. When the fill:r and hood are sep-
arated enough to place your fingers between them, grasp the filler
and pull forward thus removing it.

4.Using a 1/8" drill bit drill the heads off of 15 rivets, item 20,

along eaeh side and the bottom front face of the unit.

S.With a 1/8" pin punch, drive the rivet bodims from the unit.
6.Unlock and open tambor dbor at the rear of the wiit.
7.4ith a 3/16" drill bit, drill the heads off of taie rivets, item 19,

just inside the rear of the unit.

8.With a 3/16" pin punch drive the rivet bodies from the unit.
9.Unlock and open the individual doors at the front of the unit. Grasp

the shelves of the inner case through the doors and 1ift slightly,then
pull forward thus sliding the inner case assy., out of the outer case,
Extreme care must be exercised in this operation tc¢ prevent scratching
the finish on the unit,

Inner case reinstallation - FIGURE 5

l.Inspect interior of outer case to make certain that all foreign

materials have been removed. Also inspect unit for worn, loose,
defective, etc, parts and make necessary repairs at this time.

2.With 2 people, slide inner case, iterr 2, into owuter case, item 1,

from the front of the unit. One person should support the inner
case from the front while the other guides it from the rear. Extreme
care must be exercised to prevent scratching the finish inside the hood.

3.With an awl or other tool line up the rivet holes. With the proper

riveting tool, install the rivets at the re¢ar of the unit, items 19.

L.At the front of the unit, line up the rivet holes and install

the rivets, item 20, along each side and across the bottom face,

5.Place top filler, item 4, underneath the hcod, nak:ng certain

that the flange which protrudes across the face of the inner case about
four inches from the top, is inserted inside of the open reverse

hem along the bottom edge of the filler. Hold 1op filler assembly

in place and install 16 rivets, item 19, across the top front

of the hood,

NOTE: Avoid using chisel for removal of rivet heals .nless absolutely

necessary.



EERVE Y

1O

L .2

A/ LIS S

al

TC SEPARATE

INNER CASE ASSEMBLY (INNER CCRE)
FROM OUTER CASE ASSEMBLY ( OUTER SHELL)

REMOVE THE 4 CAP SCREWS WHICH
HOLD BOTH CASINGS TO PEDESTAL
THEN REMOVE ALL RIVETS INDICATED

TO REMOVE RIVETS
DRILL THROUGH EACH
RIVET HEAD

16 RIVETS 19\
TOP, FRON

DO NOT DRILL BEYOMD
THICKNESS OF RIVET
HEAD

4 RIVEDS H N \ '
ON(ggggTixo b ; THIS PERFORATED FLANGE
Py | | <GOES INSIDE (UNDER}

Voo OUTER CASE ASSEMBLY [ 1)

-

AT_BOTTOM
20

———— & RIVITS O
£r0H SIDL

T=-—7 RIVETS ON Q"j
BOTTOM FLANGE




_ 12710702 14:45 FAX
[do1a

L. Tambor door, inoperative or defective - FIGURE 6 OR SA

In most cases, problems encountered with the tambor door will require

the removal of the inner case from the outer cas2, If it is deter-

mined that this is necessary, proceed with with remsval as in V-J-1 thru 3.
Inspect the interior of the outer case to determine the cause of the
problem. Specific repair procedures are as followss

1. Tambor door section requiring replacement
a. Along each side in the rear of the cuter case are spring
counterbalance mechanisms,items 5 & 6,figure 6, These springs,
item u6, must be expanded during removal of the tambor door.
This can be accomplished by placing a wood block, as illustrated,
against the bottom of the floating (upper) pulley bracket aud In
betwaen the 2 springs and the push upward vrtil. the length of
the block can be pushed between the springs. “he bottom of the
block will then rest on the angle bracket that the lower end
of the springs attach to, thus holding the springs extended to
about 20", Be sure to repeat this procedure for the other side
of the unit.
b. Looking from the front toward the rear, ra.se the tambor
door high enough so that the cable attaching screws and washers,
items 22 £ 26, on the bottom section, are above the top pulleys
and ape accessible for removal., Block and hold the tambor door
in this position.
Z. Pull excess slack cables, item 32, to the tambor door and

remove the screws and washers, items 22 & 253,

4. Grasp top front of the door and pull it from the unit,

. Remove the rollers,item 9, from the end of the section or

sections, items 7 or B, that are to be replaced, Slide this

section from remaining sections and replace with a new one.

I, Replace rollers, item 9, by driving in place with a small

hammer.

#. Inspect all rollers on tambor door for defects such as cracks,

chips or excessive wear and replace if necesszry.

1. Replace tambor door by doing preceeding steps in reverse.

i. Reinstall inner case in outer case as in V-K-1 thru 5,

2. Rollers, broken or worn
samz procedure as V-L-l-a thru l except rerlace rallers only.

3. Spring, broken or defective
a. Remove inner case from outer case as in V-J-1 thru 9
b. Open tambor door and hold or block open to relieve tension
on the spring, item 46,
c. With a pair of pliers straighten the ends of the cotter pin,
item 33, that secures the ends of the defective spring and
remove the spring and cotter pins from the unit,
d., Spread the legs of 2 new cotter plins enougzh to slip them
over the loops at the ends of the spring.
e, With a pair of pliers close the legs of tae cotter pins
and insert them into the spring brackets i1 the unit.
f. VWith a pair of pliers and a flat blade screwdriver bend the
ends of the cotter pins about 90 degrees to secure them.
ge Reinstall inner case in outer case as in V-K-1 thru 5,

N



Pulley,tambor do>r cable, defective or broken

3. Removz Inn:r zase as in V-J-1 thru 9,

b. Prepare crunterbalance mechanism as in V-L-l~-a, b, & c,

¢. If the defective pulley, item 31, is on the floating (lower)
pukley bracket, pull it away from the side of the case and turn
it 90 degrees. Remove the screws, nut and washer that secure it
to the bracket. Replace with a new one being sure to remove the
pulley sleeve, item 30, from the old cne and inserting it in the
new one. It is very important that the screws and nuts securing
the pulleys be very tight to prevent them from working loose
during normal operation of the tambor door.

d. If the defective pulley is one of the pair located on the top
stationary bracket proceed as follows: With a 3/16" drill bit
drill the heads off of 3 rivets, item 19, just above the pulleys.
With a 3/16" pir punch drive the rivet bodies from the bracket.
At the top, pull the counterbalance assembly away from the side
of the unit just enough to place a wrench behind it and remove
the nut on the screw that secures the pulley to the bracket.
Replace the rulley in a similar manner as previously described,
With the appropiate riveting tool replace the 3 rivets, item 19,
at the top of tre assembly.

e. Reinstall irner in outer case as in V-«K-1 thru 5.

*rYr Y eaxo.

x v

e saT s



12/10/02 14:45 FAX dlo16

~TAMBOR DOOR (::)

1/4" PLAT
STEEL WSHR

I

ATTACH CABLE TO DOOR
WITH #10-~32 RD HD SCREW

AND FLAT WASHER °

or chsrs meRs  GACSEDE)
29T
E7)ed

)

TAMBOR DOOR

3B 374 NYLON ROLLER

WHEN DRIVING

INTO HUB LEAVE
1/32" CLEARANCE

CAUTI ON

DO NOT WORK ON CABLE
WITHOUT WOOD BLOCK
HOLDING SPRINGS EXPANDED

TO HOLD SPRINGS EXPANDED |
INSERE %" x 3" x 20"
WOOD BLCCK

I
|
I
l
|
|
I
LA

spring

|

<
r ~= M
TO REPLACE w I l-"n’v @cotter pin
COUNTERBALANCE ASSEM | ] e B
REMOVE THESE RIVETS —T
TOP & BOTTOM """’IWJI §'
il
IS Il
o ° | ,
L] .

FOR REPAIRIN

G
TAMBOR DOOR COUNTE.’RBALANCE@

ONE RIGHT - ONE LEI'T
Py servlice these assemblies remove

INNER CASE from OUTER CASE Cf) FIGURE 6
' - 13




ATTACH CABLE TO DOCR ]
WITH #10-32 Rd Hd SCREW~"
AND FLAT WASHER

o

ATTACH FIXED END —
OF CABLE HERE

REPLACEMENT CABLES-——_ |
AVAILABLE FROM

SUPERIOR STEEL DOOF. & TRIM
COLLEGE PT, N.¥Y. 11346

ALTERNATE CONSTRUCTION

TO REPLACE
COUNTERBALANCE ASSEM e
REMOVE THESE RTVETS

TOP & BOTTOM \\\\\\

FOR REPAIRING

REAR ROLLING DOOR

———PULL ABOUT ONE FQOT

OF CABLE AND CLINCH

~IN THIS SLOT WHILE

FASTENING END LOOP
TO DOOR

COUNTERBALANCE ASSEMBLY for REAR ROLLING DOOR

ONE RIGHT -~ ONE LEFY

Te service these assemblies remove

inner core of wmit - see Page 9

[ 4

FIGURE &A

ITF nAnocror LW T



U.S.P.8. E30500 NEIGHBORHOOD DELIVERY AND COLLECTION BOX

VI. REPLACEMENT PARTS LIST

Sl

PART NAME TECHNICAL DESCRIPTION QTY DWG.NO, ORDERING INFORMATION

Outer Case Assembly Weldment ,outer case 1 E30501 ddd

Inn.r Case Assembly Weldment ,inner case 1 E30502 %%

Pedestal Pedestal weldment 1 E30503 Fods

Top Filller Top Filler Assembly 1 D305k10 sk

Mailbox Door Door, Mailbox 18 D196714 Feik

Door Mullion Mullion Door 21 D196722 ek

Tambor Door, Lock mounting Same 1 D196716 L

Tambor Door Same 10 C€1967168 fhk

Tambor Door Roller Bearing, Nylon Roller 24 B30778 Rk

Mullion Insert Insert, Mullion 3 (C30558-1 #&%

Mullion Insert Insert, Mullion 3 C30559-1 %%k

Mullion Insert Insert, Mullion 15 (€30560-1  %&s

Mullion Support Support, Mullion 2 C30481 ek

Tambor Door Bumper Bumper, Rubber 3 B30542 it

L/H Tambor Door Counterbalance Door Retainer Assembly, L/H 1 D196704-1 dHwx’

R/H Tambor Door Counterbalance Door Retainer Assembly, R/H 1 D19670U~2 *&#

Door Lock Lock, Door 18 B30463 *ikk

Hole Flug Fiug, Hole 4 B30503 wEE

Rivet Rivet ,Domed Head 3/16 dia. x USM "pop" AD64BS or
.126-.250 grip 112 equal

Rivet Rivet, Domed Head 1/8 dia. x USM "pop" ADU3BS or
L326-.107 grip 66 equal

Nylon Button Button, Nylon 18 B30468 k&%

Screw 10-32 x 1/2" Round Head Mach.S 21 Local Purchase

Hex Nuts 10~ 32 Hex Nut,steel,cad plated 14 Local Purchase

Lockwasher #10 Lockwasher,steel, cad plated 21 Local Purchase

Mail Slot Cover Cover, Mail Slot 2 C30507 fidd

Flat Washer washer, flat .219 I.D. x
.5000 0.D. x .0L9 Thick 2 Local Purchase

Counterbalance Channel L/H¥ Channel 1 D196705-1 x&*

Counterbalance Channel R/H¥ Channel 1 D196705-2 #«k

Floating Pulley Bracket¥® Bracket, Floating 2 D196703 %dedk

AT

Z0/0T

Xvd 9% :¥1

8T0 [P



9|

NO. PART NAME TECHNICAL DESCRIPTION QTY DWG.NO. ORDERING INFORMATION
30 Pulley Rearing Sleeve¥ Sleeve, Pulley 8 c30532 Ak
31 Nylon Pulley* Pulley, Nylon 8 D30562 Rk
“32 Tambor Door Cable¥* Cable,steel with crimp ferrule 2 B30565/66 #&%
33 Cutier Tin¥ Pin, CC‘;‘;CI"-”"‘C D23/ L, ztainlosc cteslfB Ineal Puvrechase
3L Hex Nuts¥ nut, hex, 8-32 steel, cad plated 8 Local Purchase
35 Screw#® 8—32 x 3/4 Pan Hd. Machine Screw,
cad plated 4 Local Purchase
35 Serawl f_ -3?2 x s/h gt HA, Machine Sc}nsﬂrf_
Steel, cad plated hl Local Purchase
37 Flatwasher¥ Washer, flat, .188 I.D. x
.37 0.D. x .049 steel, cad plated b Local Purchase
38 Hex Nut# Nut, hex 10-32 steel, cad plated 2 Local Purchase
39 Flatwasher# Washer,flat .219 I.D. steel,
cad plated L Local Purchase
4o Screw¥ Screw, Pan ‘Head 10-32 x 5/8"
Steel,Cad Plated 2 Local Purchase
b1 Lockwasher¥ Washer, Lock #8 , Steel,Cad Plated 2 Local Purchase
4o Removeable Divider Vertical Divider, portable 2 D30480 HH
43 Anchor Bolt¥*# Anchor Bolt 4 ©30533 whk
by Hex Nut*# 1/2-13 Cad Plated, Steel b Local Purchase
45 Lockwasher¥¥ Washer, Lock 1/2, steel, cad plated y Local Purchase
: L6 Spring# Spring 4 B30564 ok
g 47 Bolt Bolt, Hex 3/8-16 x 3/4" long,
! cad plated Yy Local Purchase
] 48 Washer Washer, loeck, 3/8 I.D., steel,
: cad plated Yy Local Purchase
. hg Rivet Rivet, Drive 3/8 Dia. x 5/16 Long 8 Southeco Fastener
4; 38-112-10-91 or equa
< 50 Base Plate same 1 D30774 w&d
Y-
Bl
» §
- 3

*¥Included in Items 15 and 16
¥%¥Part of Pedestal Assembly E30503, Item No. 3
#%%Contractor as shown on nameplate op rear of mailbox unit

L&/ LU/ VL



